= A =
FEE NGRE
1. ¥%4
e 22 R 7 EEWII FH A X i S ER E S
BT T BB A T HoE 15 EEEWIIEEIT R OZ OEN)
2. EBNE
1) FHET4 FEREWM)IFEET SRR
2) 1T 288 H [#] H SfM7T45H15H

= S F84E2 H 27T H

3) BANH
AHETS 1L, EEREWHA) BRI AT 5 IR B R O R B O ORI RS 2175 bOTH 5,

4) FEBNE

BmfEpk 130 BiEEg 150 AEAE 150 BiE 10 BsiE 15K




= =R =B
*EEA W nR =
BE3Z2 R 7 FEE W1 ) |05 T 14 1 e VK e w 1@
H H
THH - TfE - fERHI - A0 FANT Yo & AMoB A RR
FERRINT N 5555 i X i S VR Rk 2 5 2V 1
X ERK, 2y 1
)1 BE R m {E AR = 1 2,965, 220
X TREERELL. 0 - BB AR AL 1. 00 12 ¥z
e TREAREL. 0 « S BEAREL 1. 00 6 A&
FEMT TAEARERL. 0 - BESFEARS 1. 00 12 #
T HERE KT D EAREL 1,00 6 Hz
/MK HED FEARER 1. 00 6 A4
— g X 5 AR 1,00 6
R E WED FEARER 1,00 40 K
AR E 40
B B R R A 1 2,159, 640 |y LA AIRECL O - HES AR 100 5 f
eI 5 B 1. 00 3 K
T K OERT TR R 0 - RS EEAREL 1. 00 3 %
T e AR %R 1,00 3K
FEAEREMT X #ED EAREL 1,00 3 ¥
- R B X 5 AR 1,00 3 K
IIMEEIX WS FEARER 1,00 3 K
— A& X WD EEAREL 1,00 5 ¥
R EEE 5 FEAREL 1.00 10 #c
ETRHE T 10 4
B A X 1
A = 1
ERE RS X 1 771, 300 |FHAHIEX 5 EELR AL 1. 00 10 B¢
L =X 1




E3E R 7 EECL I |55 911 1 (PR s % 1
3 H
SHH - TAE - A - A B & P R
T Ey
I Ey 479,920 |4 BIERTIR  AAWGRGEE 7L, DR A%H 8 A
VL HZE 0.0
I T Ey
FR IR Ey
B A A 2V 2,528, 150
oEm R e 0.0, Sol R 0.5 kn
P— B 0.0, I -
P ML 0.0, A 251
BT 0.0, WA - WARHO.0 0.5 kn
s ER oo 0.0, SOl R 0.5 kn
£ 5 i ey 8, 900, 000
W% B W Y A Ey 890, 000
E R N Ey 9,790, 000




